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=2 = W AN B AN | = = T HN = W AN = =3
; 100kN/m%#8 2% - -~ - -[3mEHEZS -~ - -| 100kN/m%# %% - -~ -|3mZEHEZ D -~ -
zhs 1.00 1 000 ~ 6.40 80.564 | =0 | 000 ~ 0.00)] 157 7.91 Fhs 1.00 | 56.00 ~ B8.44 80.54 | FnLS | 6500 ~ 844 | 1.567 7.91
2 100kN/m#%#BZ5| 1.00 | 000 ~ 025| 10370 |3mERBZS -~ -| 100kN/m#%#8Z25| 1.00 | 1227 ~ 1328| 103.70 |3mEHBZ5 -~
zhs 1.00 | 025 ~ 804 100.00 | Fns | 0.00 ~ 804 | 1.95 9.86 Fhs 1.00 | 5.00 ~ 1227 100.00 | st | 500 ~ 1328)| 1.95 9.86
3 100kN/m#%#BZ5| 1.00 | 000 ~ 043| 106.37 |3mEBZS ~ -| 100kN/m#%#8x25 | 1.00 | 1265 ~ 1461| 106.37 |3mEHBZ5 -~
zhs 1.00 | 0.43 ~ 822 100.00 | =nLst | 000 ~ 822|193 9.77 Fhs 1.00 | 5.00 ~ 1265 100.00 | FhLst | 5.00 ~ 1461 1.93 977
4 100kN/MZ#B25 | 1.00 | 000 ~ 003 100.42 |3mEFHBAS ~ -| 100kN/m#E#Z5 | 1.00 | 1257 ~ 1269 100.42 |3m%EHBAS -~
zhs 1.00 1003 ~ 781 100.00 | Fhs | 000 ~ 7.81|1.94 9.78 Fhs 1.00 | 5.00 ~ 1257 100.00 | FhLst | 5.00 ~ 1269 1.94 9.78
5 100kN/m#%#BZ5| 1.00 | 000 ~ 038| 10568 |3m&ERBZS ~ -| 100kN/m%#8z25 | 1.00 | 1268 ~ 1442| 10568 |3mEHBZ5 -~
zhs 1.00 | 0.38 ~ 817 100.00 | =04t | 000 ~ 817| 1.93 9.76 Fhs 1.00 | 5.00 ~ 1268 100.00 | st | 5.00 ~ 1442 1.93 9.76
P 100kN/m%i#8 2% -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~
zhs 1.00 1000 ~ 465 57.92 | Fhs | 000 ~ 465)| 1.86 941 zhs 1.00 | 5.00 ~ 5.02 57.92 | EnUS | 5.00 ~ 5.02 | 1.86 941
7 100kN/m%#8 2% -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~
zhs 1.00 1000 ~ 580 72.60 | RS | 000 ~ 580|191 9.67 Fhs 1.00 | 56.00 ~ 6.92 7250 | =hRS | 600 ~ 6.92 | 1.91 9.67
g 100kN/m%i#8 2% -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~
Fhs 1.001 000 ~ 667 84.18 | =L | 000 ~ 667|195 9.85 zhs 1.00|56.00 ~ 874 84.18 | TN | 5,00 ~ 874 | 1.95 9.85
9 100kN/m%Z#8 25 -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~
Fhs 1.00 1000 ~ 751 96.00 | =0t | 000 ~ 7.51)1.94 9.81 zhs 1.00 | 5.00 ~ 1144 96.00 | TN | 5,00 ~ 1144 1.94 9.81
10 100kN/m%Z#8 2% -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~
Fhs 1.00 1 000 ~ 750 95.81 | #nLS | 000 ~ 0.00| 1.58 7.97 zhs 1.00 | 5.00 ~ 1132 95.81 | =N | 65,00 ~ 1132 1.58 7.97
11 100kN/m#%#B25| 1.00 | 000 ~ 0.75| 111.23 |3m&ERBZS ~ -| 100kN/m%ZE#BZ% | 1.00 | 11.63 ~ 1463 11123 |3mEHBZD -~
Fhs 1.00 | 0.75 ~ 854 100.00 | #ns | 0.00 ~ 854 | 1.99 10.05 zhs 1.00 | 5.00 ~ 1163 100.00 | LSt | 5.00 ~ 1463 1.99 10.05
12 100kN/m#%#BZ5| 1.00 | 000 ~ 093 11389 |3mERBZS ~ -| 100kN/m#%#8x25 | 1.00 | 1056 ~ 1340| 11389 |3mEHBZ5 -~
zhs 1.00 | 093 ~ 871 100.00 | Fns | 000 ~ 871|215 10.86 zhs 1.00 1 56.00 ~ 1056 100.00 | LSt | 5.00 ~ 1340 215 10.86
13 100kN/m%#8 2% -~ - -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D -~ -
Fhs 1.00 1000 ~ 7.44 94.98 | =N | 000 ~ 744 1.98 9.98 zhs 1.00 | 5.00 ~ 1072 94.98 | =N | 65,00 ~ 1072 1.98 9.98
14 100kN/m#%#BZ5| 1.00 | 000 ~ 047 106.92 |3mEBZS ~ -| 100kN/m#ZE#BZ% | 1.00 | 1072 ~ 1200 106.92 |3mE#BZD -~
zhs 1.00 | 0.47 ~ 825 100.00 | Fhs | 0.00 ~ 825|229 11.56 zhs 1.00156.00 ~ 1072 100.00 | FhLst | 5.00 ~ 1200) 229 11.56
15 100kN/m#%#BZ5| 1.00 | 000 ~ 047 10694 |3mEBZS ~ -| 100kN/m#Z#BZ% | 1.00 | 1072 ~ 1200 10694 |3mE#BZD -~ -
Zh Lot 100|047 ~ 825| 100.00 | Fhist | 0o0o ~ 825|229 11.56 Zh Lot 100|500 ~ 1072 100.00 | #nst | 500 ~ 1200|229 11.56
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16 100kN/m%#8 2% - -~ - -[3mEHEZS -~ - - -| 100kN/m%# %% - -~ - -|3mZEHEZ D -~ - - -
zhs 1.001 000 ~ 477 59.50 | Ehst | 000 ~ 000 1.71 8.66 Fhs 1.00 | 5.00 ~ 5.00 59.50 | Fhs | 65.00 ~ 500|171 8.66
100kN/m%#8 2% ~ IMEHBAD ~ 100kN/m%Z#8 2% ~ 3ImEBZD ~
Zhilst ~ st ~ Zhilst ~ Znst ~
100kN/m%#8 2% ~ ImEHBAD ~ 100kN/m%i#8 2% ~ 3ImEBZD ~
Thilst ~ st ~ Zhilst ~ st ~
100kN/m%#8 2% ~ ImEHBAD ~ 100kN/m%#8 2% ~ ImEBZD ~
Zhilst ~ st ~ Thilst ~ st ~
100kN/m%#8 2% ~ IMEHBAD ~ 100kN/m%i#8 2% ~ ImEBZD ~
Thilst ~ Zhnist ~ Thilst ~ Znst ~
100kN/m%i#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Zhilst ~ Fhnist ~ Thilst ~ Zhnst ~
100kN/m%#8 2% ~ ImEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Thilst ~ st ~ Thilst ~ st ~
100kN/m%i#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Thilst ~ st ~ Thilst ~ st ~
100kN/m%Z#8 25 ~ ImEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Thilst ~ Zhnist ~ Thilst ~ st ~
100kN/m%Z#8 2% ~ ImEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Zhilst ~ st ~ Zhilst ~ s ~
100kN/m%Z#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Thilst ~ Zhnist ~ Thilst ~ st ~
100kN/m%#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ 3ImEBZD ~
Zhilst ~ st ~ Thilst ~ st ~
100kN/m%#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ ImEBZD ~
Thilst ~ st ~ Zhilst ~ st ~
100kN/m#E#BZ % ~ ImEEZD ~ 100kN/ m#Z#BZ % ~ ImEEZD ~
Thilst ~ Znist ~ Thilst ~ st ~
100kN/m#E#BZ % ~ ImEEZD ~ 100kN/ m#Z#BZ % ~ ImEEZD ~
Zh Lot ~ ZhLlst ~ Zh Lot ~ ZhLlst ~
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